Tableaux des Puissances de Dix (C)

Divisez le nombre de la rangée par celui de la colonne.

10

1000

100

10 000

3,54

1,97

8,04

7,29

6,18

10 000

10

1000

100

7,81

4,55

1,29

6,34

3,82

10 000

10

100

1 000

6,24

5,61

1,15

7,28

2,19

1000

10 000

10

100

1,68

4,03

6,75

9,42

5,26

MathsLibres.com




Tableaux des Puissances de Dix (C) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 10 1000 100 10 000
3,54 0,354 0,00354 0,0354 0,000354
1,97 0,197 0,00197 0,0197 0,000197
8,04 0,804 0,00804 0,0804 0,000804
7,29 0,729 0,00729 0,0729 0,000729
6,18 0,618 0,00618 0,0618 0,000618

+ 10 000 10 1 000 100
7,81 0,000781 0,781 0,00781 0,0781
4,55 0,000455 0,455 0,00455 0,0455
1,29 0,000129 0,129 0,00129 0,0129
6,34 0,000634 0,634 0,00634 0,0634
3,82 0,000382 0,382 0,00382 0,0382

+ 10 000 10 100 1000
6,24 0,000624 0,624 0,0624 0,00624
5,61 0,000561 0,561 0,0561 0,00561
1,15 0,000115 0,115 0,0115 0,00115
7,28 0,000728 0,728 0,0728 0,00728
2,19 0,000219 0,219 0,0219 0,00219

+ 1000 10 000 10 100
1,68 0,00168 0,000168 0,168 0,0168
4,03 0,00403 0,000403 0,403 0,0403
6,75 0,00675 0,000675 0,675 0,0675
9,42 0,00942 0,000942 0,942 0,0942
5,26 0,00526 0,000526 0,526 0,0526
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